chhuuh Uur2r PENMIU4UL a3NFENNEU, UNPOL Lk UBN2UOL3U 9NSNFU

StNuLU34usc IULaUSk FUSON3U GUURUN
U huwwinwbplbph dwywGbip

NN U luwwnwbpbtiph wbjwbnidp s/0 Swywip
1 2 3 4

Owdéywpwl

1 GybLtp N14 n 0.208

2 [Rwnwyniuh Yunpgwéph funnnjuly o0100x100x3u4 n 0.132

3 |NFnnwGynch upgwoéph funnnuly o0100x70x3u04 tn 0.433

4 UGyniLlGwy L8Ox5 n 0.017

5 |P@Eppwwnnuuwn §=3.004 n 0.029

6 |UGnwnwlwnrnigwdéplbph jninubtpyncd n 1.146

7 dwpwdbiL opnpnwbh wwwnpwuwnnid ghGywwwwn gnibGwynn 5 5
phptinhg 5=0.500, (b=24001) 4

8 Qnuwhtnwgiwl funnnywyh wntnwnpnd ghGywwwuwn phpbinhg n 1
0004, h=1.80, GGpwnrjw| 9phnu dwquwpp
UGunwnwywl dwutiph GEpynd hwywynnnghnb Gepyny 2

9 n 0.92
wbqua

10 I Ywpgh gpnilnp dwynid dGnpny /fupwdninnid/ §° 1.7

11 UdGnpn gpnibuinp hwppbignid inbinnud dtinpny N 1.7
Owoéywpwbh ywuwnbph hpwlwlwgnid wbiwly pwquwiwnt pwph 3

12 ) 10.6
2wnywépny

13 O_deLunLuUh owéynyph wwnpwuwnnid pippwwnnuwwnhg 0 0.286
6=2.0u4

14 Runitywjhb dGYniuwgnid hwbpwdjnipny 2 26pwin 92 18

15 Owdéynyph ywunpwuwnnid dwlpwhwwnhy wtdqupwnhg 5ud 5 0.9

hwuwnnipjwdp, S=1842




16 |«QGnunGpuwnh)» Gyniphg 1 2Gpwnh thenld 92 18.6

17 |Stnwywb hnnhg 26pnh hpwwbwgnid 10-15ud hwuwnnipjwdp N 2.7

18 [Lwfuwwwwnpwuwnnid utpdh gwlbnt hwdwp 2 18

19 |Ubpdh gwantd 162 - 35qn o2 18
UtinwG, Gunwpwa

1 Il Ywpgh gpnibinp dwynid dGnpny §° 14

2 |Udbtnpn gpnibGunp hwppbigned inbinnud dtinpny §° 1.4

4  |Pwnwynruh Yunpqwéph funnnjwly o60x6004 n 0.021

5 |NFnnwGynta Yunpgwoéph funnnuly o80x4000 n 0.054

6 |[RPwnwyniuh Yupgwoph funnnuly 040x4000 n 0.086

7 | Owjnjw dwuh wnbGnwnpned /150x3000 tnwfunwybbphg/ 5 0.17

8 |Nupkiph pbnnGwgntyd §° 1.4
UGunwnwywnnigwépbtiph GGpyncd hwywynenghnb GGpyny 2

9 n 0.161
wbqua

10 Qwjunjw dwuh (wpwwwwnntd 2 2Gpwn (palubni) 92 6
UnwGéhG Guunwpw

1 Pwnwynruh Yupqwéph funnnjuwly o40x4004 n 0.020

2 | Quwjunjw dwuh inbGnunpned /140x3000 tnnwfunwybbphg/ §° 0.07
UGinwnwywnnigwépltiph GGpyncd hwlywynenghnb GGpyny 2

3 n 0.02
wbqua

4  |Owjunjw dwuh (wpwwwwnnid 2 2Gpwn 92 3.1




Ubtnwnwywl Juwnwpw

1 UGynibGuy L50x50 n 0.016

2  |P@Gppwwnnuuwun 6=3.000 n 0.15
2niowpwl

1 Pwnwynruh Yunpqwéph funnnjuwly o80x80x2.500 tn 0.208

2 [Rwnwyniuh Yuinpgwéph funnnuly 060x60x2.504 n 0.282

3  |NFknnwGynih Yupgwoéph funnnuly o060x30x2.504 tn 0.433

4 @tppwwnnwuwuwn 6=3.000 n 0.43
UGinwnwywnnigwépltiph GGpyncd hwywynenghnb GGpyny 2

5 n 1.353
wbqua

6 |@npb bbwwwwwn wuhwlwb wpnwplngh pwubiph tmGnwnpnid U-tn 2

7 |l ywpgh gpnibuinp dpwyned dGnpny §° 2.2

8 |UJGinpn qpnibwnh hwppbignid wntinnid dGnpny §° 2.2

9 |Lwfuwwwuwpwunwlwb 2Gpnh hpwywbwgnid pwqunt fudhg N 0.306

10 |PGunGG hwppbiglnn 26pn wipwlwynpdwdp 5ud hwuwnnipjwdp N 0.3055

11 JUdpwluwjhl gwg 92 6.11

12 Runtywjhb dGYniuwgnid hwbpwdjnipny 2 26pwin 92 7.0
Owdéynyph ywunpwuwnnid dwlpwhwwnhy wtdqupwnhg 5ud 3

13 2 a 0.35
hwuwnipjwadp, S=70

14 «QbLininGpuwnh» Gyniphg 1 2Gpwnh thnnud 92 7.3




15 | SGnwlwb hnnhg 26pwnh hpwlwbwgnid 10-15ud hwuwnnipjwdp N 0.9
16 Lwjuwwwwpwuwnnid ubipdh guwbbine hwdwn 92 7.0
17 |Ubpdh gwanwd 162 - 35qn o2 7.0
18 Unjninnt Y np nhinwhnpbph ywunpwuwnned hwjwpnyh G/p 5 0.9
flGoGGunGEphg A0, h=20 '
19 Thuwwhnph hwnwy hwwn 1
20 |Thwwhnph onwyGtn hwwn 2
21 |Thwwhnph onwthnfunipjwb funnnuwly 100040 qu 3
Pwupbwpoiwl woluwwnwbpltip
1 I ywpgh gpnilwnp dwynid dtinpny /hGhwwwunh hwdwp/ N 29
2 Udbinpn gpnibnp hwpptignid inbinniud dtinpny N 29
3 RG0wwwwnh hpwlwbwgnd wadwly pwqunt pwph 5 114

2wnywépny

Lwqutg d. @nudwlywh




chMuuh Uur2r cunhy a3ntnsrnry, uNPokh Lah UeNUOL3U aNSNtU SENULU34Uo

IULQUSh PUSON3U GUURUN
U2fuwwnwbplbph dwyw)btip

NN U2 luwwnwbpbtiph wajwbnidp s/0 Swywip
1 2 3 4
1 ChOwpwpwywl wiuwnwbplbbp
1 Gybtp N14 n 0.208
2 Lwnwynruh Yunpgwéph funnnjuly o100x100x3d4 n 0.132
3 NEnnwayynct Yyunpdwdph funnnjwly o100x70x3d0a n 0.433
4 uayyntGuy L80x5 n 0.017
5 PEppwwnnuuwwn 3=3.000 n 0.029
6 UGinwnwywnnigwépbtiph jninubbpyniy n 1.146
5 JwpwdbiL opnpnulbh wwwnpwuwnnid ghGywwwun gnibwynp 5 5
phptinhg §=0.500, (b=24001) &
8 Qnuwhtnwgiwl funnnjwyh wnbnwnpnd ghGywwwwn phpbinhg Jn 1
@A10004, h=1.80, GGpwnrjw| 9phnu dwquwpp
UGunwnwywh dwubiph GGpynd hwywynnnghnb Gepyny 2
9 n 0.92
wbqua
10 Il Ywpgh gpnibnp dwynid dGnpny /fupwdninnid/ §° 1.7
11 Udtinpn gpnibuinp hwppbignid inbinnud dGnpny §° 1.7
Owolwpwbh ywuwnbph hpwlwlwgnid whdwly pwqunk 3
12 ) 10.6
pwph 2wnpydwépny
13 O_LuéuLunLuDh Swéynyph wwwnpwuwnnid pippwwnnwwunhg 0 0.286
6=2.0u4
14 Runitywjhb dGYniuwgnid hwbpwdjnipny 2 26pwn 92 18
15 Owdéynyph ywunpwuwnnid dwlpwhwwnhy wtdqupwnhg 5ud 5 0.9

hwuwnipjwdp, S=1842




16 | «QLnwunGpuwnh» Gjnphg 1 2Gpunp thenud 92 18
Stnwlwb hnnhg 2Gpwnh hpwywbwgnid 10-15ud 3

17 a 2.7
hwuwnnipjwip

18  Lwjuwwwwnpwuwnnid ubipdh gubbnt hwdwn 92 18

19 Utpdh gwhntd 182 - 35qn 92 18
Utinw(, Guunwpw(

1 Il ywpgh qpnibwnh dowynid dtinpny §° 14

2 Udtinpn gpnibuinp hwppbignid inbinnud dGnpny §° 1.4

4 Lwnwynrtuh Yunpwéph funnnjuwly o60x6004 n 0.021

5 NEnnwayynca Yyunpdwédph junnnywy o80x40404 n 0.054

6 Lwnwynriuh Yunpwéph funnnjuwly o40x4004 n 0.086

7 Quwjwnjw dwuh nbinwnpned /150x3000 tnwfunwybbphg/ §° 0.17

8 Nunptiph ptinnGwgntyd §° 1.4
UGinwnwywnnigwépbtiph GGpyncd hwywynenghnb GeGpyny

9 n 0.161
2 wiquwu

10  Quwjunjw dwuh (wpwwwwnntd 2 2Gpwn (palubni) 92 6
UnwGéhG Guunwpw

1 Lwnwynriuh Yunpwéph funnnjuwly o40x4004 n 0.020

2 Quwjwnjw Jdwuh nbinwunpned /140x3000 wnwfunwybtphg/ N 0.07
UGinwnwywnnigwépbtiph GGpyncd hwywynenghnb GGpyny

3 n 0.02
2 wlquwu

4 Quwjwnjw Jwuph (wpwuwwwnntd 2 26 92 3.1




Ubtnwnwywl Juwnwpw

1 uayyntuy L50x50 n 0.016

2 Ptppwwnnuuwuwn 6=3.000 n 0.15
2niowpwl

1 Lwnwynrtuh Yunpqwéph funnnjuwly o80x80x2.500 n 0.208

2 Lwnwynruph Yunpwéph funnnjwly o60x60x2.500 n 0.282

3 NEnnwayynct Yyunpdwédph funnnywly o60x30x2.500 n 0.433

4 PLppwwnnuuwwn 3=3.000 n 0.43
UGinwnwywnnigwépbtiph GGpyncd hwywynenghnb Gepyny

5 n 1.353
2 wlquwu
@nLob Fwjwwywwn wuhwywb wpunwplngh pwubiph

6 y-tin 2
inGnwnpnud

7 Il ywpgh qpnibwnh dowynid dtinpny §° 2.2

8 Udtinpn gpnibuinph hwppbignid inbinnud dGnpny §° 2.2

9 Lwuwwwwnpwuwnmwywhb 26pnh hpwlywbwgnid pwquint 5 0.306
fushg

10 PGwnnGG hwppbiglnn 26pun wopwlwynpdwdp 5 ud 53 0.3055
hwuwnnipjwip

11 Udpwlwjhb gwlg 92 6.11

12 Runitywjhb dGYyniuwgnid hwbpwdjnipny 2 26pwn 92 7.0
Owdéynyph ywunpwuwnnid dwlpwhwwnhy wtdqupwnhg 5ud 3

13 2 a 0.35
hwuwnipjwdp, S=70

14  «QbLnnGpuwnh» Gyniphg 1 2Gpwnh thnned 92 7.0

15 Stnwlwb hnnhg 2Gpwnh hpwywbwgnid 10-15ud 53 09

hwuwnnipjwip




16  [Lwfuwwwwnpwuwnnid ubpdh gwlbnt hwdwp 92 7.0
17 \Utpdh guGned 182 - 35qn o2 7.0
18 Unjninnt Y np nhinwhnpbph ywunpwuwnned hwjwpnyh G/p 5 0.9
EltukGunGEphg 214, h=20 '
19  Thuwwhnph hwunwy hwwn 1
20  |Thwwhnph onwyGtn hwuwn 2
21 Yhwnwhnph onwithnfuncpjwb funnnjuwly A10044 qu 3
Pwupbwpoiwl woluwwnwbpltip
1 Il Ywpgh gpniGunp dwynid dtinpny /hEGwwwnh hwiwp/ N 7.6
2 Udtinpn gpnibuinp hwppbignid inbinnud dGnpny N 7.6
3 FG0wwwwnh hpwlwbwgnd wadwly pwqunt pwph 5 12.16

2wnywépny

Lwqutg d. @nudwlywh
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